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1. 'Financial Management"” and 'Manage-
rial Finance' are synonym term.

(A) True

(B) False

(C) Not clear

(D) Irrelevant

Basic objective of financial manage-

}I‘J

ment is !

(A) Maximisation of Wealth
(B) Maximisation of Sales
(C) Maximisation of Profit

(D) None of these

s3

3. Financial decisions involve : 3.

~ (A) Investment, financing and divi-
dend decisions
(B) - Investment, financing and sales
decision
(C) Both (A) and (B)
(D) None of these
4. As per traditional approach, the job of 4.

a finance manager is .
(A) Management of cash
(B) Raising of funds

(C) Issue of cash

(D) None of these
In his traditional role the finance man-

Ln

ager is responsible for :
(A) Arrangement and efficient utilisa-
tion of funds
(B) Arrangement of financial resourc-
es
(C) Acquiring capital assets for the

organisation

(D) None of these
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Financial Planning and financial plan
are different:

(A) True

(B) False

(C) Not clear

(D) Irrelevant

Types of financial Planning are:
(A)y 2

(B) 3
(C) 4
(D) 5

Financial planning depends upon
———___estimations.

(A)
(B)
(©

(D)

Present

Past

Future

None of these

If book value of shares < Real value of

share then it will be:
(A)
(B)

Optimum capitalisation
Over-Capitalisation
Under-Capitalisation
(D)

Over Capitalisation is ___

None of these

__than under
Capitalisation:

(A) Less dangerous

(B) More dangerous

(C) No dangerous

(D) None of these

452\A\2021
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11. Price-Earning ratio and Capitalisation
Rate have same meaning:
(A) True
(B) False
(C) Not clear
(D) Irrelevant

12. Which of the following will be the con-

dition of over-capitalisation

(A) Normal Rate of Return > Actual
Rate of earning

(B) Normal Rate of Return = Actual
Rate of earning

(C) Normal Rate of Return < Actual
Rate of earning

(D) None of the above

"The term capital structure is fre-

[y
(8]

quently used to indicate the long term

sources of funds empioyed in a busi-

Thic Aafimt

ness enterprise an s giv-
en by
(A) Gestenberg
(B) 1.M. Pandey
(C) Robert Wesse
(D) None of these
14. Which is the technique of capital struc
ture anaiysis :
(A} Cost of capital
{B) Capital gearing
(C) Trading on equity
(D) All of the above
15. When debt capital exceeds owned
ital, it is:
(A) Over-capitalisation
(B) Low capital-gearing
(C) High capital gearing
(D) None of these

452\A\2021
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. H,%Bl Operating Leverage

C) Composite Leverage
- (D) None of the above

Ll

- 18. "Leverage May be defined as percent-  18.
g g€ return on equity to percentage re-

% :;;r:\; t;ayl::italisation“. This defination

é (A) Solomon Ezra

% (B) J.E. walter

% (C) S.C. Kuchhal

g__ (D) None of these

R > 19. Which leverage explain the relation- 19.
g ship between earnings before interest

and tax and earnings before tax?
(A) Operating Leverage

(B) Financial Leverage

(C) Composite Leverage

(D) None of these

20. If composite leverage is 2 then by 20.

what percentage will taxable income
increase if sales increase by 5%
(A 2.5%

G (B) 10%

©) 6%

(D) None of these

(6]

(D) 3 & B e _
75t 3R B ¥ T 37T A R | T A g
&ra T e e § W A
(A) oREme I |
(B) fafta 3e= |
(C) Fafda sea=

(D) 3T A $IE T

afe ffssa 3avem 2 & o fadl 1 5% i @
waﬁa\mmﬁﬁﬁﬁqﬁmﬁqﬁi;ﬁ’ﬁ=1

(A) 2.5%
(B) 10%
(C) 8%

(D) 379 9 &S F&T
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1.
: what percentage will taxable income
increase if EBIT increase by 6%:
(A) 7.92%
(B) 0.22%
(C) 13.2%

(D) None of these
22. If operating leverage is 2 then what
percentage will EBIT increase is sales
increase by 10%:
(A) 20%
(B) 5%
(C) 8%
(D) None of these

23. The ideal situation is to have a high 23,
financial leverage and low operating
leverage.

(A) True
(B) False

(C) Not clear
(D) Irrelevant

&
N
5.8

Operating and financial leverage are 24
not inte-dependent :
(A) True
(B) False
(C) Not clear
(D) Irrelevant
25. "Cost of capital is the minimum re- 25.
quired rate of earning or the cut off
rate for capital expenditure". This defi-
nation is given by:
(A) Solomon Ezra
(B) Milton H. Spencer
(C) R.M. Lynch

(D) None of these

452\A12021 (7]

If financial leverage is 1.32 then by  21.

22.

af2 facfra 3ee 1.32 & A EBIT % oo of
g W X A I A e e of

2

(A) 7.92%
(B) 0.22%
(C) 13.2% |
(D) T & P A

ofz aRare Feie 2 &, Tl 10% a5 S
3 o s 3 A% F @F oM W o i

gl 8 -

{A) 20%
(B) 5%
(C) 8%

(D) &7 & P A&l
3o g e sk P oRaes sdew

2 smeef Rafa & -
(A)
(B) 39

(C) 3

(D) WIS

aferer 3R faeira Jder v R ot anfia
T & -

(A) |

(B 3

(C)

(D) 3mTife

G @ AT S B A e e
SaT 931t @l 3 frese ax &1 gy oRwm
aé-

(A) |EAET g5
(B} ToeeT vg. wWap
(C) aR.v%. fag
(D) 1 9 B 98
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te of tax) x C, (Before tax) is the . 26. (1

a for calculatlng
(A) After tax cost of dept

(B) Before tax cogt of debt
(C) Both (A) ang (B)
(D) None of thesg

27,

Example of OPportunity cost is : 2.

(A) Cost of Raw Material

- 4C) Cost of depreciation funds
(D) None of these

Interna| rate of return ang time ad- 26,

Justed rate of return are
(A) Different

(B) Same

{(C) Both (A) and (B8)

(D) Nothing can be said

a
D

(A)
(B)
€Y

. Sales - variable cosgt=

Fixed cost

Profit

Contribution

29,

(D) None of the above
~30. Pay Back Period =

(A)

(B)

(©
(D)

Initial Investment
Flow

Net Investment /
ing Savings

Both (A) & (B)

None of the above

30.
/ Annual Cash

Annual Operat-

(8]

-rate of tax) % Cq (Before tay

ﬁmuﬁ’t

) o g A I T L

) o o 1 7 B A

€ (a3 (B) 3T

(B) U® WHF

€y (A) 3tk (B) 21
(D) o BET FE T Tyl
faga - oRad=efer amra =

(A) ©ng amg
(B) &%
(C) 39E=

Tl (A) st (Y gy
D IR F g gy
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- -({ﬁ) None
3; .ﬁivi'dénd can never be paid out of:
“W Capital
(B) Capital Profit
(C) Revenue Profit
(D) Accumulated Profit
33. Divident is distributed:
(A) Before provision for depreciation
(B) After provision for depreciation
&) After provision for taxation
(D) None of these
34 Ifr<c then firm will be:
(A) Growth firm
(B) Normal firm
(C) Declining firm

(D) None of the above

_ E(1-b)
35 P=—br)

(A) Gordon

this is related to:

(B) Walter
(C) Modigilani
(D) None of the above

4521A12021 [9]
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©
(D)

20

31 b &

(A) gott
(B) UGS TTH

(C) 3TTd &9
(D) sfsta @
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(A) 7 & e A O

(B) &Y & IS & §I8
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9. DPS+E(EPSDPy)
. c —— above is re-
fated to:
(A) Gordon
] (B) Walter
(€) Modigiani
(D) None of the above
A company's pay out Ratio is 95%
which dividend policy the company is
following:
(A) Stable Dividend Policy
(B) Liberal Devidend Policy
(C) Strict Dividend Policy
(D) None of these
Modigilani and Miller's assumption is
(A)
(B)

Dividend should be distributed
Dividend should not be distribut-
ed

(C) Both (A) & (B) are irrelevant
(D)

Gross Working Caprtal =

None of these

(A)
(B)

Toatal Current Assets
Total Fixed Assets
(C) Total Assets

(D) None of the above

Net working capitai =

(A) Total Current Assets

(B) Total Assets - Current Liabilities
(C) Current Assets - Current Liabili-
ties

(D) None of the above

[10]
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@ggcrjsj’_@ R
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(A) emHie faRa g afev

B) @i faafka 78 g arfev
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_41. Which is the long-term source of work-

ing capital:
(A) Issue of Shares
(B) Retained Earnings
(C) Long terms Loans
(D) Ali the above
42. Which is the technigue of cash man-
agement :
(A) Cash Budget
(B) Cash flow statement
(C) Both (A) & (B)
(D) None of the above
43. Baumol Model is based on :
(A) E.O. Q. Technique
(B) Statistcal quality contro!
(C) Cash Flow Analysis
(D) None of these
44. The higher the credit period, the great-

er are the chances of recovery of debt.
(A) True
(B) False
(C) Not Clear
(D) [Irrelevant

45. Strict credit policy result in
(A) Increasing sales
(B) Decreasing sales
(C) No effect on sales

(D) None of these

4521412021 [11]

Prer ¥ & 21 T ot 2 S
dad:

(A) 3 3 Frfea

(@) st enfa 3

41.

42.

(B) e Fa [T

(C) (A)sﬂ?(B)a‘ﬁ

D) FRE A DS

arer Afsa ... % Fmd &:

() Fraardt e A FEAD

(8) wifdw 1o FaaEwr

(C) JP3 gare fawemor

(D) 30} B TR

48, Wyl 3 BR WA & I AR B
e FerE & &:

43,

(A) >
(B) A
(C) 3T
D) IS
45, FOR 9r@ A B URoTE WEY
ia) foga A gfg aar @
(8) fpad s a2
(C) fapa w B s 7@ 8
(D) 3 AR T
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46. Trade Debtors and B/R = 46. TNRD &AeR vd ra
—(A) Receivables (A) o
(B) Payables (B) &
(C) Cash (C) AP
(D) None of these o) A B T
47. Formula for E.0.Q. is: 47 feerdy s 7 & A
© & © &
(D) None of the above (D) e & B TE
48. E.0.Q. is the quantity where carrying 48 fiaedt sde AT gg Al 2 59 W 9z
costand ___ cost are equal. AT O ... T e A il &
(A) Material (A) Gl
(B) Ordering (B) 39
(C) Holding (c) Fg=m

(D) None of the above

49. In which technique items of inventory 49
are classified according to their value
and importance ;
(A) Prepetual Inventory System
(B) A.B.C. Technique
(C) E.O.Q. Technique

(D) All the above
50. VED analysis is used to manage spare 50.
parts etc.
(A) True
(B) False
(C) Not clear
(D) Irrelevant

(D) IRFE H F IS A8l
g apie &, Wy @ He I U9 Hed

& MUR R Fipd o F 2 -
(A) Taeeer s s faf
(B) v.aha. ufafe

(C) Trasgdy snewr s wfafer
(D) 3WITh T

48" faeemor sfiRes g3t anfk % var ¥ fre

G {dban e & |

(A) \g
(B) 311y

(C) e agt
(D) 3mrEiT®
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51. The term Management Accounting was 51. WD afafty ge o1 wany wdem

.....

first used in: # fsar war 91|
(A) 1910 (A) 1910
(B) 1939 o (B) 1939
(Cy 1950 {C} 1950
(D) 1960 (D) 1960
~52. Management Accounting relates to: 52. weeeag drate e d & wafua @
(A) Presentation of accounting data (A) AT SNice! BT TRATDOT
(B) Recording of accounting data (B) et wd) B ferftes s
(C) Recording of costing data (C) e 3iiest B ferftag B
(D) None of the above (D) 3IRIep T A PR AR
~53. Decision Accounting is also known as : 53 oy Sgie a1 AT € ¢
(A) Cost Accounting (A) ENT erETd-
(B) Financial Accounting (B) faia oraia=
(C) Management Accounting (C) DA T
(D) None of the above (D) IR A J P &
54. Management Accounting is an off 54 TERIPR TR U e ¢ -
shoot of (A) @ Igics ol
(A) Cost Accounting ®) Frira i @
(B) Financial Accounting
(C) Both (A) and (B) (C) (A) @ (B) ST &
(D) None of the above (D) IWRRE # 9 P T&T
55. "Management Accounting is concerned 55 “UARIOT oEate &1 T 39 aEiad
with accounting information that is ?j\"d-'ﬂ'&ﬁ A 3N P g & e 3gah &
useful to management." This definition e ufesmer AR Tl% 3.
IS given by :
(A? J. Be:ty (A) 3. det
(B) Robert N. Anthony (B) ™ w.
(€) 1L.CAI (C) 3me. | v. 378,
(D) None of the above (D) 3IWITH A A IS e
452\A\2021 [13) P.T.0.
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56. In case of limited company the term

fi
nNancial Statements include

(A) Balance gheet

(B) P& LA/K and Balance sheet
(C) Trading & p & A/c

D) PR L Alc, PR L Appropriation

A/c ang Balance sheet

~ 57 ve
rtical analysis reveals the concern's:

(A)
(8)

Progress of the institution
Position of the institution
(C) Prospect of the institution

(D) Earning potentiality of the institu-

tion

Ln
93]

When the ratios are calculated among

the items at a particular date, it is
called :

(A) Internal analysis
(B) Horizontal analysis
(C) Vertical analysis

(D) Dynamic analysis

oo duljuoneIqp mmm,//:sdny

=S. Working capital analysis is related to :

'A) Short term analysis
‘B, Long term analysis
(C) Medium term analysis
‘D, None of the above

~ 60 Which of the following is used in Hori-
zontal analysis :
(L) Trend Ratio
(B) Trend Average
(C) Graphs
(D) All the above

452\A\2021 [14]
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(A) 3rRe fawergor ;
(B) &ifasr faerwor g
(C) orvaad fageror ;~.
(D) wdfie fagdmor g

=

(A) FeqETeE fagergoT

(B) crdarei fqveigor

(C) W@ Feagor

(D} IRIH A F P 72T

60. 1 A & olv s favawor & for w
fpe St &

(A) gqﬁ{\grimﬁ

(B) wgfer sitera

(C) Yarfem

(D) 3w ¥

o
(o]
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L3

~61. Cash = ¥ 15000, Stock=t 35000 In-
vestment (Temp.)=C 10000, Cred-
itors=t 32000 Bank Over draft=t
13000, So current ratio will be
(A) 3.5:3
(B) 5:1
) 1.33:1
(D) 2:1
62. Current ratio =3:4, Current Liabili-
ties=¢ 24000, the amount of current
assets will be: o
(A) T 32000 3 & Yoo
(B) ¥ 12500 v
(C) ¥ 18000 3o
(D) T 36000
63. Average payment period is 4 months
hence creditors turnover will be :
(A) 6times
(B) 5times
(C) 3times
¥8) 4 times
64. Debtors=%¥ 5000, B/R=% 1000, Cred-
it sales for the year=% 24000, Cash
Sales =¥ 6000, so average Collection
period will be:
(A) 4 months
(B) 3 months
(C) 7.5 moths
(D) 6 moths
65 If the operating ratio is 85% the net
profit ratio will be:
(A) 15%
(B) 25%
(C) 20%
(D) 5%
452\A12021

[13]

81,

62.

63.

64.

65.

Q5 = T 15000, TRB = € 35000 Aok
(srerdY) = € 10000, PR = € 32000 &
it = ¥ 13000 Ty I v -
(A) 3.5:3

(B) 5:1

(C) 1.33:1

(D) 2:1
mm:B\;aa@a@a:tzamm

Fufer @1 qed & -
(A) % 32000
(B) 12500
(C) 18000

(D) % 36000
St sy oty 4 A @ 1 FRR e
2 -

(A) 6 TF

(B) 5

(C) 3TA

(D) 4T
&HER =% 5000, W1 fae =2 1000 o€ & foe

JUR ot =% 24000 7@ B =2 6000 3
e et vt 2 -

(Al 4 9%

(B) 39E

(C) 7.57HE

(D) 69

It FEe 37U 85% & &1 g o S
S

(A) 15%

(B) 25%

(C) 20%

(D) 5%

P.T.0.
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66. "Hi i
gher the Fatio, the more favourable

67.

oy.

()}
O

* 70.
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itis". This does not apply to

(A) Operating Ratjg

(B) Stock Turnover

(C) Net Proft Ratio

(D) None of these

Idea| Current Ratio is :
(A) 1 - 1

(B) 1:2

) 2.1

(D) 2:2

Ideal Quick Ratio is :
NA) 1:1

B) 1:2

(C) 2:1

(D) 2:2

Solvency Ratio is :
(A) Current Ratio
(B) Quick Ratio

t€) Debt-Equity Ratio

(D) None of these

Formula for Gross Profit Ratio is:

Gross Profit .
(A) Cost of Sales 100

"8 Gross Profit

Net Sales ~ 100

Gross Profit
(©) Gross Sales < 100

(D) None of these

4822021

66.

67.

68.

69.

70.

[16]

e 4 a7 T B R

(A) FEer g W
(B) Ty Had T
(C) ¥ T FIA R
(D) 7 R PR A

aireet A HAI & ¢

(A)
(B)
(©)
(D)
et eRea Fud @

S S
% ST O S

(A) 1:1

(B) 1:2

() 2:1

(D) 2:2

AN &THAT 3T & -
(A) Ty 3

(B) &R 35T
(C) Y7319 3Ty
(D) T A B 78

BT AT 3T &7 gz 2 -

T ATy
(A) A
fagn & Ama ~ 100

(B) I emy

¢ fgy ~ 100

(D) sirﬁﬁmﬁgqﬁ

https://www.dbrauonline.com

v 1 e BT &, 3

woo surjuoneIgp mmm//:sdnuy

% L —



oo duljuoneIqp mmm,//:sdny

https://www.dbrauonline.com

g, Which of the following Is the applica- 71, FrerfRec %3 24 21 2wt sy g

tion of funds : (A) TR 31 =
(A) Payment of Dividend (B) A BT FUcrE
(B) Writing of Goodwill (c) e o e fea
(C) Sale of goods for Cash (D) @R B

(D) Refund of Income Tax

2. Which of the following is non current 72 P & & o IR o TR

; Assets : (A) U
(A) Stock : (8) g‘ﬁ'ﬂﬂm
Prepaid Rent
(B) Prepaic (c) T
(C) Goodwill
(D) @8
(D) Cash
73, Net Profit + Non Cash Expenses/Loss- 73, F& ¥ + R T @R =
es = (A) Y BT T
(A) Uses of Funds (B) @l @1 A
d .
(B) Sources of funds - (C) W#aﬂ'ﬁ
(Cy Funds from operations : :
(D) T & B Tl
(D) None of these ‘
74. Which of the following is non-current 74, Frfee & ot & e a 8
liability: (A) &F ftfaad
(A) Bank overdraft (B) mw
Qutstanding wages
8 (C) 2 fam
(C) Bills Payable _ ‘
(D) 3WiE § A B T

(D) None of the above

75 Frafifea 3 ¥ foad grr ardea G &

75. Which of the following will increase

working capital : e 2N
A)  Payi h a 3 :
(B) Payment to the creditors by Y 2 3
cheque ® e
(C) Wniting off goodwill (C) il
Q) Sale of old machine for cash (D) AP &g T i a1 famd

4521412021 (17] PTO.
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~=76. 1 Which of the following
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non-cash expenses:

(A) Depreciation

s an example of 75 fp=ifAfEd #9
3|0 t-

e AT T Q?

(A) B
(B) Wages and salaries (B) worgd & 4
(C) Telephone expenses (C) Eefer 4
(D) None of these D) @B TR H Iy
/7. Total sales=% 200000, Debtors at the 77. P fept r 20007

beginning=% 15000 Debtors at ending
T 28,000, cash sales will be :

(A) 1,87,000

(B) ¥2,13,000

(C) ¥2,15,000

< 15000, 3 &R = ¥ 28000 T
fergeY &1 -

(A) ¥1,87,000

(B) ¥2,13,000

(C) ¥2,15,000

oo auljuoneIgp mmm,//:sdny

~tP) None of these (D) T A P T

/8. Cash flow statement is prepared for : 78. Ppg yaIg fFaxon dar fosar ST -
(A) Long-term period
(B) Short-term period (A) e srafer & ford

(B) IupTeid 3@ty & ford
(C) Heaprei st & e

(D) None of these (D) 399 & P &
Gt AEie wEe-3 & AR fRR
TwfeRll & U BT /ET S &

(C) Medium-term period

79. According to As-3 (Revised) purchase 79

of fixed assets is treated ac °

(A) Operating activity (A)  ulares ar
B) Investing activity (B) fafrars= fsar
(C) Financing activity (C) fTaeiras fpan
(D) None of these (D) 99 A &1 71
80. Cash from operations will decrease 80. “HUEE 4 inf?sj GG o WIROT &N -

due to :
(A) Increase in current assets (A) aie] wmaferat 4§ gfy
(B) Decrease in current assets (B) = wwfagy o gy

(C) Increase in current Liabitity (C) a1 aifge) § Eﬁ\z

(D) 399 A B 78

(D) None of these

452\A\2021 [18]
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81.

82.

83.

84.

4521412021
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A budget that gives a summary of all
the functional budgets and projected
profit & loss a/c is know as .

(A) Capital Budget

(B) Sales Budget

(C) Master Budget

(D) Flexible Budget

The fixed-variable cost classification
has a special significance in the prepa-
ration of:

(A) Flexible Budget

(B) Master Budget

(C) Cash Budget

(D) None of these
If period of credit allowed to custom-

ers is 2 months then the credit sales
of which month will be considered for

cash budget :

(A) First month

&) Second month

(C) Third month

(D) Fourth month

While preparing cash budget, opening
balance of cash is added to :
(A3 Receipts

(B) Payments

(C) Profits

(D) Loss

- Under which Costing method, only

variable costs are charged to products

(A} Marginal costing
(B} Absorption costing
(C) Standard costing

(D) None of these

[19]

81.

82.

83.

84.

85.

(C) ®s §IC

(D) 39 A PR A

giz wEe] I 2 WIE & JUR 37aftr Wea &
a1 I3 d51C & fh9 A B IR A W
frar foar s -

(A) ¥IH AR

(B) gEXI HE

(C) F=T 97

(D) uqd 9=

RIP3 §32 JIR Bxd T5Y AP F TRAYS
319919 &I T3] FIAT & -

(A} oitaat &

(B) ¥rar-i o

(C) @&

(D) =T ¥

Fr=fafaa 3 9 15 6 emg o2y & srafa
3R] U hae Uia-IRie @ & 9WiRkd @t
S 2

(A) Omra oRegas

(B} wfdeas wReaa=

(Cy wHg ufRsgaq

(D) 8 A @1 T8
PTO.
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3
86. Which Costing method is more sult-  gg. ity & ey ety Profort ¥ St vy’

able for decision making : Lkl

(A) Standard costing (A) g GRE
(B) Absorption costing (B) e IR
(C) Marginal costing (C) A=t o
(D) None of these (D) T APE T

87. One of the primary difference between

meg & N W Y TP P TOR |}

marginal costing and absorption cost-

ing is regarding the treatment of : weaterd &1

(A) Direct material (A) WTe] AP

(B) Variable overheads (8) uRad=eher uRema
(C) Fixed overheads (C) =R wufram

(D) Prime cost (D) & @rrd

88. Contribution = 88. Contribution (TN =

(A) Sales- Fixed Cost-Profit
(A) fapa - T @ - @
(B) @™ + tRadee @
(C) e omd - &
(D) =8 | B &

go. m famse fomg v & e

(B) Profit + variable cost
(C)} Fixed cost-Loss

(D) None of these

B.E.P is that where:

o
w0

oo duljuoneIqp mmm,//:sdny

(A) There is minimum profit
(B) There is maximum profit
(C) There is minimum loss

D). There is neither profit nor loss

90. What is the effect of decrease in vari-

(A) Fraw omw B 8
(B) Fiftrsam 7Y BT &
() Fimam o 2 2
(D) = ¥ & & 7 &

90, URad=YIE @ & B B T- R g

able cost on B.E.P.: R &1 WHd 2l ¢ -
(A) Decrease (A) BH
(B} Increase ) &
(C) No change (C) @ WRE T&
(D) None of these (D) & B T

452\A\2021
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" 91. If percentge of variable Costs to sales
is 60%, fixed costs are ¥ 30000 B.E.P.

will be:

T 275000
(B) 18000
(C) 50000
(D) ¥ 12000

92. Variable cost per unit=%15 per unit
Fixed cost=¥ 54,000, B.E.p.=6000

units Selling price=?
(A) T 25
) - 724
i (C) T30
(D) ¥ 28
93. P/V Ratio = 25%, B.E.P. =% 50000,
Fixed cost =7
(A) T10000
(B) T 200000
(C) T 12500
Q) ¥ 2000
94. If ratio of varible cost to sales is 80%
then P/V Ration wil be:

FAl 20%

(B) 25%

(C) 15Y%

(D) 30%

95. Sales =2 50000, Variable cost = 2

40000, P/v Ratio="

(A) 25%
By 20%
(C) 80%

(D) 40%

1521412021 [21]

9.

92.

93.

94,

95.

afx fn ge1 @ Tadaier ol

HAUIT G0 B FYers MTTTA 30000 2 we-Bredy

farg, €11 -
(A} T 75000

(B) ¥ 18000
(C) ¥ 50000
(D) ¥ 12000

oot mﬁm:f'ﬁmm
— 7 54000 wwﬁ%r_z&m.umts

fogsar gea=?

(A) T25

(B) 24

(C) ¥30

(D) ¥ 28

o s sEEA=25%, W R g

— 750000, feR o d =2

(A) 10000
(B) 200000
(C) ¥ 12500
(D) %2000

gfe o ® oRad=eie amar & FEd
80% & &1 7T JTAT 3T &N -

(A) 20%

(B) 25%

(C) 15%

(D) 30%

g = @ s0000 cRedwem amE
= 240000, FTH-HTHY 31U =2

(A) 25%

(B) 20%

(C) 80%

(D) 40%

P.T.0.
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96.

98.

99.

100.
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In which costing standard cost is com-
pared with actual cost:
(A) Standard costing
(B) Absorption costing
(€) Marginal costing
(D) None of the above
Idle Time variance is always adverse
(A) True
*B) False
(C) Partly True
D)

If Actual price is more than the stan-

Can't say

dard price, material price variance is
said to be :

(A) Adverse

(B)
(©)
(D)

Material cost variance =% 400(F) ma-

Favourable
Zero

None of the above

terial usage variance=Y 100(A) materi-
al price variance=?

(A) T 300 (F)

(B) 7 300 (A)

(C) % 500 (F)

(D) %500 (A)

A variance can be favourable or unfa-

vourable :
(A)
(B)
(&)
(D)

True
False

Partly True

Can't say

452\A\2021

96.

97.

98.

99.

fre oftemosr & wfta s & qeen
arafas amma A B e &

wag qfiea
(B) 3sraeimor aiama=
(C) | dRaag=

(D) IRF ¥ F B TR
o aa farer wia wfaga dan 2 -

(A)

(A) I
(B) 18
(c) 3v® g

(D) &€ & FBa
afg ardlas g T TR 3 s @ @)

(D) IRTH H ¥ DS Fal
AU FTTE fEEROT = T 400 (F) TTHU U4
famRor= 2 100 (A) B9 gy faeRon = 2

(A) % 300 (F)
(B) %300 (A)
(C) 500 (F)
(D) 500 (A)

100. faeRer 3Ea & wod 2 ar wiage:

[22]

(A) T
(B) 3G
(C) 31t
(D) 8 & Fhdl
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